Division of fractions problems:
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1. Write a measurement division problem for -3—-'-§ Draw a double number line diagram to solve the problem.
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2. Write a partition division problem for g-rg Draw a bar diagram (tape diagram) to solve the problem.
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3. Use the bar diagram to explain why% tells you the answer. 5 ¢ 8’ - , wule/
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Some more word problems:

] e full jar holds E/B Ib of jelly, How much does ofjelly weigh?
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of candy into each bag. How many bags can he fill? M

’L Mike has 3 Ibs of candy. He wants to put 1/4 Ib of candy into each bag. How many bags can he fill? /M
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Sarah has a pitcher that is 1/4 full of water. There are 3 cups of water in it. How many cups of water can her full
pitcher hold?
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Jenna has a pitcher that is 3/4 full of water. There are 3 cups of water in it. How many cups of water can her full P
pitcher hold?
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Kylie has a pitcher that is 2/3 full of water. There are 3 cups of water in it. How many cups of water can her full
; _pitcher hold?
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Paula has a pitcher that is 2/3 full of water. There is 3/4 of a quart of water in it. How many quarts of water can
her fuil pitcher hold? _
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6. Fill in the blanks and draw a number line picture to solve:
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7. Draw an area picture (with squares) to solve Exg Explain with words how the picture shows that the answer should
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Solve each by drawing a picture. Then try to find an equation that solves the problem the same way.

1. A bag of candy weighs 3/4 of a pound. Jan has 2/5 of a bag of candy. How much does her candy weigh?
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2. Jan has 2/5 of a bag of candy. Her candy weighs 3/10 of a pound.  How much does a full bag of candy
weigh?
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3. Jan has 3/10 of a pound of candy. A full bag of candy weighs 3/4 of a pound. How many bags of candy does

Jan have?
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4. James has 2/3 cup of milk. Mary has 3/4 as much milk as James. How much milk does Mary have?

5. Mary has 1/2 cup of milk. She has 3/4 as much milk as James. How much milk does James have?
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